MATH 9 SEPTEMBER REVIEW

Show all work/answers on a separate sheet of paper. Work must be shown in an organized manner to receive
credit for this review assignment.

1. a) What is a prime number? b) List the prime numbers from 2 to 50.

A number AVISibe, by & & elf only, 23,5, % 11,13,17,19, 23,29, 31,

37, i
2. List 5 composite numbers. T 43) “7

4,6,%,9,10,12 ot

3. Write the prime factorization of the following numbers. Use a factor tree.

a) 600 b) 23600 c) 3087
/N /o
6 00 oo 23b q/ \3q3
2SR / \ / \ / \ / \
13 415 o Wy 59 3 2 5 4q
AR /NN N
171 s5% 2 S 145 1 7/\7

4. Write the factors of:
. /\ s
64 = £1,2,4,9,16,32, W 70 {02,570, 1 357§ 9% {1,13,4,6,%12, 19,3

5. Write the first 10 multiples of:
a) 6 6,12,18,24,30,3b, U2, 5,54 60 b) 15
15,36,45, 69,75, 90, 105,120, 135, IsD

6. Find the GCF and LCM for:

a) 14, 35 b) 18, 32 c) 12,18, 15
(@35 @\1%,32 Q129,55
%5 | AT 2 [4,6,5,

((F =T 60 =2 .55
LOMz=z Ty =770 L(M=< Zxﬁxkéiigg G\OFZS-

= IXLUCT = |90
7. Write all perfect squares up to 400. LM = 3x LG = |g

1, 4,8,16,25,36, 48, b, %1, (oo, 121,114, (8], 14,225, 256,
199, 324, 36l Ltoo



8. Evaluate:(%% \“’_‘%O trom *‘W)
b) V361 =@

a)ﬁm@
VT =1

OVI=|

f)lizmh ‘ﬂ g)mﬁa

d) |20 _ Jo :F—Rl
E“Eim

b4 ]_oi
) V169 =U} j) VO.0T = 0 \/gz b o) VAH00
z F . i ._ 1 Jig T B
[ L“H ‘ ° =37 1o
9. Estimate to the nearest tenth. f_ﬂ/ J’d N @j
A AL 35 I [z e ﬁ{] Sy .
a) V5 = b) V28 = VI = 1 dv3so= e ®B
1 ~ed a =] ﬁ ¥ T
.d,’LS'Q,'Jl ~5,,, ~ =
P l
i P UK +_¢u 145
13,0 2w d"l]i 0
10. Evaluate: 17. R 188
g
3)—5-8 77b>( 28) + (=7) Eﬂ c) (— 9+5)( 4-3)L,
" = (=N =[] = [28]
d)-10+(-13) = e)=5(-4)(-1) = 4(5) +(-2) =
:~\0'1;:@ :@ = 20 % -y =\-lo
9)4—(-6) = h) =9+ (=2) - (-5) = )=3-2[4-(-D(-3)] =
- utf= S % =324 - (3] - 3-2(1) = 3-8
46 - ies = [ ( )
)14+ (=2) = @ Kl4—3(1-2) = )—2(1—-4)-3(4—6) =
:LL'; —3(—1‘ =13)-3(2)
- 13 = =
11. Simplify into lowest terms. b t6 n
}u’n;f T 1 B 25 = ‘2{-/ 92 =|7 200 _ 24 _LL_:F_)
10 1 30 56 ig, 600 60 10 9_—_
12. Change from a mixed fraction into an improper.
2_ R VXS 1\ _
el -] o=lg)  ani-[Z
13. Change from improper fraction into a mixed fraction,
19 [ - 23_‘_3_\ 8 [ & g_‘ F
A= |T+,—Z b)?— Ll_f__ )7*6_7 J19—1Tq_



14. Evaluate. Put your answer in simplified form.

2ty 2 = 1 -] s 0 st 1_ 3 0 o
a)§+ E ﬁé—l_ m b)5+ 3= 5= C)§+ i 2;'; TLT"—.;’(__—ZT',

b

U S I P S 5,31 b3 1_q1_
93-5= -4 - Li} &) 13+ 32 qz-@ f5+31—12 L
0\1 el %_L-l._\.: -1_2._.-_1—
- l-\-l: lLf—:,, z 3 L 3
S s S, 8,
6 6
e 1 1_ .1 3 77 1"
R h3g+ 1= 3+ 1757 35 g
P R _”_,__l R : T Lo iy
26T 3 42 - [(S] Qa0
: ’5—5 _,]f: :S_\ 1z q;')_ e :_;A_
b b b LEME T3t 66
TL,O
3 [t
A S 05-11= 1= 14 [
OIS =4-4
2,5 =15
. g‘;ﬁ, :_lE_'i:__U_
Lo = 6x183 3 3 |3
:;7(9 o
15. Evaluate. Put your answer in simplified form. &
R |
IEx = - 3x = 3 9t 5= S =]
VT . T
f
Z 1 1 1 2
d—x—:gﬂ—? g)5x=-= |5 3+-= 3 b3 .
)3 \i, b )-T 2 = f)T 6 T\Xi /j\



2i2=%,1 %
16. Simplify.

i
236D =115)
3 3 N 3

= !
- ‘L -
b3

§% T
followng
17. Solve the factoring equations.
ax+1=5
T ey
dx—-3=-2
+ +
3 3 g
g)x+7=-9
-1 -1
Jx—11=-13

T+ ‘HII[

s 56 SZ)
I S
. = 2.5-3(49)
33 T LS 36
(=]
d)s5 z@+§—@
“5-1 (44 0Y)
‘Sa(i+ >
§~1(l+_L
b) 2x = —10
A
Xz
e)—3x:712
_3 X:L[_
h) —4x = 15
_(-r "?
X=
K)-x = —6
X=b



18. Solve the following equations.

y | A)2r—1=3 ix—1=3 03y+1=5
/4\-/ + +| z,,X” + B
XY 7= %) v =y
L X=¢ =
X =1 = &
J= 3
d)~iy+4=-5 &) —3y+5=—4 N-3=2-1a
iy 1A S e ¥ B
(3= N =S

L (5= )
: )

19. Solve the following equations.

a)2(x—1)=5 b)2(1—-2x) =—4 c)—-3(x—1)=3
1x-1=5 , T-Yx= -4 s 3=3
42 4T -7 =2 S S
| s “3x=
> i 3
A= X X=0
d)=10 = 3= {1 —2) R f)g(_6;—6_95)=4
\
~0 = 3= (X e F o G .
I+ fa i =
R
0~ X ' “4x=D
_ =
X=h X=0

a c)
1T, T T 8 + (7 ix
Xto =9 b4 36 =xt 21
T .
X (00 =32 [
2 0o 00 100 = x
KL—; 'L/)/I*




10

o |\
—
3

N s 160 Sanal |

21. Find the area and the perimeter.

a) | g 3=
= P(tg)2 e
i '
- Az l5(15)
o d)

0, PUOIZH AT
10+lb ' il

16m

,% e mofer
h 4
N +3 =0 A= lﬁ/i = L%—) A=afrs =3

Sard.
K"+Ho4=>00 = . ' 5
SRR TSI [T bt o]

22. Determine:

a) The width and area of a rectangle which hasa  b) The length and perimeter of a square with an

perimeter of 28 cm and a length of 6 cm. area of 225 cm?2
A=%
A VtW)2Z
LS R i R 9
'R
R _ (=1 om)
e Azl Pty - ¢ (15)

= %(0)
| pot _ . 0
23. When a number is added to twice itself, the result is 45. What is the number? **write an equation first

AT (s =5
RS
3 X= 15

24.‘Eight times a number increased by 10 is —23. Find the number. ** write an equation first then solve

C& ’x = lo:_

A0 =3
=0 (0

#> 3% / \



25.a) When a number is divided by seven and then decreased by 12, the result is 3 more than the square root of 81.

Find the number.
//,

‘1 = (w3 = J + \Jrg\

‘f\_ -1 22 3+9 ?z,u

L ﬂ.\\lz | ¢ _f_d'
1 +trz 4\L [{)X
= R

b) When a number is divided by 3 and then increased by Y, the result is 3. Determine the number.

i
26. Mental math:
10% of 250= b
0.\ (250) E Q\SJ\

5% of 120=
105 (29) = Ea

27. a) What is 45% of 807
0:45(%0)

sl =
R = = k|
’2‘*%:3 A b o
¥ o Tl 3
T ol «
I~
noF, (2T3)
KO \
K2 > 15

05x12=1b) 23%x100= |230 40x12=‘L&}

X0
120 = 100 =@ 0.2 % 0.02 e ()7 = @
- 10 ‘

I
30% of 400= [(7_03 0.5x%x 0.5 @ 003 = @
042400
b ‘ b) What is 303 % of 4007
S, | 3.5% = 0,315
34600

" 0315 *400 =136

28. 30 is what percent of 1307 b) 12 is what percent of 967
3 3(100) = 15X §x=100
Bh et ot ¢
9 100
Xj’ ’\9/0 e - A X= ‘;J\.SU/O
43 € 100
29. 80% of what number is 247 b) 65% of what number is 1257
E BT - 045 (#) =13
o 0% ' 0.6Y bad

A

~ %Mé‘l’f’?ﬂ
7‘:,\?3 bjo wot whole, #

=



30. Complete the table:

Fraction Decimal Percent
% 0. §o %,
R P 1.5 %
{%\% ) \:/i—g 1,35 135%
B0 22 257,
1; = *Z 3,%% e 166:77,
025% = 0.0

31. A survey showed that i % of 800 students use inline skates to get to school. 60% of the rest walk to school. The
remaining students take the bus. How many student take the bus to school? '

0,0025 x§00 = % Students mline Skate

F0-1 = 798 Cep

boh ot 7062 0,6 (799)= Y79.6 (777) walk

79— u75.8 -319.2  bws

32. A sweater costs $80. It is marked down 20%. Tax is 12%.

a) find the amount of discount - b) find the selling price
0
\%XQO (O %O’IE
- 80 x (0,2) i
$16\ ‘
oy

d) find the final amount of many you
have to pay for the sweater.

- G4+ €68

Z‘E‘b‘”.ég\ Dh“gina(
pre

29 leid

< bwﬁ

¢) find the amount of tax

4 x 12%
= o4 (0.12)

e) find the answer to question d in

one or two steps.

=50 (0:8) 112

S

= \\w hat you
@@ ) WE v\CI V\)IIA (n ﬂF (\7\2\{/ "}77\)(

% of Oq‘gt\nﬁ‘
pAL you nethto pay



	new rev ans up to 17
	101357
	101430
	101500
	101531

